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1) TaFIARR

(£451818)
W g S A304F 314 sHE
i [ A % i [ AL % i |[# %
i 27,507, 577 9. 4 27, 493, 771 9. 4 27, 487, 287 9.4
il 15, 492, 900 5.3 15, 459, 714 5.3 15, 268, 186 5. 2
= 16, 153, 352 5.5 16, 180, 819 5.5 16, 224, 207 5.5
Mo B 25, 449 0.0 25, 307 0.0 25, 307 0.0
WL # | 134,379,003 45.6 | 134,377,121 45.6 | 134,366, 550 45. 6
w5
BB 423, 044 1 423, 044 0.1 419,318 0.1
M & i 12, 753, 168 4.3 12, 753, 504 4.3 12, 854, 483 4.4
z 0 87, 915, 507 29.8 87, 936, 720 29.8 88, 004, 662 29.8
it 294, 650, 000 100.0 | 294, 650, 000 100.0 | 294, 650, 000 100. 0
(BH) RBEMHMBERESD (BAL © i, %)
2) [EER
(%4 - )
. xR (C) £3/S RRME R
Ty | == = (mm) (cm) (m/s)
F 21 7.5 30. 6 -19.8 | 1,087.5 70 2.0
22 7.8 31.8 -22.9 | 11735 84 2.3
23 7.2 33.1 -23.0 | 11,0780 93 2.2
24 7.2 31.4 -22.9 | 1,008.0 101 2.2
25 7.2 30. 2 =225 | 1,271.5 100 2.3
26 7.1 31.1 ~23.7 947.5 93 2.3
27 7.9 31.5 -18.3 | 1,131.5 73 2.2
28 7.2 30.3 -20.4 | 1,190.0 66 2.2
29 6.9 32.6 -22.0 | 1,086.5 72 2.3
30 7.3 30. 6 =234 | 1,241.5 80 2.3
BT 7.6 33.1 -23.8 789. 0 68 2.4
2 7.9 32.3 -19. 8 909. 5 70 2.3
41218 -5, 4 3.5 -16.6 29. 0 50 2.2
2 ~4.5 7.5 -19.6 62.5 61 1.9
3 1.4 1.7 -8.9 110.5 70 2.6
4 5. 1 18.7 -5.7 68. 5 2 2.8
5 1.4 28. 6 -2.0 52. 0 0 3.0
6 16.5 30. 4 6.7 27.5 0 2.7
7 19.3 30. 0 12.3 51.5 0 2.7
8 21.2 32.3 1.1 115.5 0 2.5
9 18. 2 31.3 4.5 132.5 0 2.0
10 10.7 20. 8 -0.6 169. 0 0 2.1
1 4.5 18.5 -7.8 80. 5 13 2.3
12 -4.2 8.1 -19. 8 10. 5 19 2.1
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SH2FE98KH)
T % B % Dol 5 % [@m mAOEE] > % @ mliosE
ki Ak ki A/kn] ki A/kni
B BE | 294.870 237.7|== BT 0.045 43b56||%= < 8 4 T B| 0.056 51429
R X 6.114 224 BT 0.175 58857 & 8 5 T B| 0036 6,861.1
N H 3.468 101|f@E 81 TH 0.159 41069 < B 6 T B| 0058 6,4655
E=S H 5.050 246|F2a x BT 2 T H 0.092 40109(|F=E 48 =1 TH| 0084 34524
F R 4538 540 = BT 3 T B 0.080 7075048 ®E2TH| 0078 6,923.1
il L a 4592 41.2|1%r BT 0.043 1,790.7(|E#%H =3 TH| 0073 51918
= Tt 3.262 43.8||=& iy 0.133 3360948 =4 TH| 0097 93608
B 3] 5.750 1323|E B ET1 T H 0.062 71290 A8 =ES5TH| 0093 6,279.6
MELHE1TEH 0088 49091|&5 BE AT 2 T H 0.090 bL5111EAEEE6TH| 0071 65211
MXEBE2TEH 0124 52500||F B BT 3 T H 0.059 40847|Em#&# 8 =7THE| 0081 66173
MR 3TH 0074 79595|5 BE T4 T H 0.060 43333||FE&#Em1TH| 0153 46405
MXE4TEH 0096 4302115 B8BTS T H 0072 43472 #&# 8 m2T B| 0082 3,1220
MBI S5TH 0123 70976|&5 BTG T H 0.081 49383(FEA#EHEI3TH| 0095 34526
iz ET1 T H 0.106 6,8208|< BT 1 T H 0.054 43148|lEm# 8 m4THE| 0075 6,1200
B ET 2T B 0.068 7,0000|X< BT 2 T H 0.038 4657948 EE5TH| 0128 21719
BniZ BT 3T H 0.067 4,0746|X BT 3 T H 0048 57083|Em&#Em6T B| 0140 56643
BG4 T H 0.486 7284k BT 4 T B 0.065 2,7538||FEA#Em1TH| 0043 76512
BuiZET5 T H 0061 35738||xX = HET 1T H 0.089 64382 #Hm2T B| 0090 5,366.7
BniZET6 T B 0076 4,4605|x mHET2 T H 0052 94423|lE# 8 m3TH| 0108 53148
BEER1THB 0374 1,0053||xX = ET 3 T H 0.068 22500 # 8 m4TB| 0153 46536
H#EB2TH 0061 55246l mHET4 T H 0.092 7315248 mb5T B| 0037 53784
H#EBE3TH 0.133  4,669.2|[% 5 2810 954|(FE&# %1 T H| 0089 49551
H#EBR4TH 0.292 61.6|/% R| 159.404 O1|fFE#&#8d2T B 0102 48529
#4£41TEH 0.160 3,831.3||# x| 49.825 00| #8743 T H| 0112 26429
#4£I2TH 0119 47059+ & BT 1 T H 0.080 77500 #8444 T H| 0119 2689.1
#4£43TH 0134 56791+ &8 2T H 0116 44052|E# % 45T H| 0116 54138
#&£I4TH 0213 32207+ &5 BT 3T H 0116 18276|FE#&# 846 T H| 0102 6,4902
EHE&PRITH 0089 6,3034||+ 5 HT 4T H 0173 5676 3|Em#&# %47 T B| 0101 74653
HePR2TH 0.080 4,1875|+ &5 B 5T H 0.090 b53556(|FE#+EHEx1TH| 0120 1,6000
HE&PRITH 0087 76782+ & B 6 T H 0.128 53281 ||E#EHEX2TH| 0210 23619
HePR4TH 0.113 3,973.5|= S BT 0178 42865 &FET1 T H| 0193 35648
H&PROETH 0.209 00ff== BT 1 T B 0125 186405 FE2T B| 0241 40830
EE£m1TH 0312 32404|= #1T 2 T H 0.105 3485.7|&##hEr1 T H| 0063 3,730.2
E4£®M2TH 0113 6,7168||= BT 3 T H 0.075 5386 7|5 HET2T B| 0067 3,164.2
E4$®m3TH 0129 76202|= BT 4 T H 0.120 A7(|SmHET3T E| 0.037 44595
EHE£®EM4TH 0131 76489 & BT 1 T B 0.188 361175 %EE1TE| 0057 52807
#H&®mOHTH 0.110 3,0455|# % BT 3 T B 0462 36948|&#M=EB2TH| 0063 53333
HE£EMO6TH 0105 3,1238||#= 5 BT 4 T H 0110 42273 EE3T HB| 0085 52824
#&m/TH 0.124 6,629.0||1%8 N iy 2.346 134 3||&WAEBT4T H| 0067 3,373.1
18 & BT 0257 75175 KB 1T H 0.060 6,366.7|&#AB1THE| 0070 67714
#% BT 1 T H 0.030 4,9333||1H A< BT 2 T B 0.058 44310 AmB2T H| 0105 53143
% BT 2 T H 0.081 79136||#a < BT 3 T H 0102 59216|&#MAB3TE| 0108 64537
FEER1TH 0.077 3,2468||#H < BT 4 T H 0.109 35L05|&#ABT4TH| 0095 54526
FE/2TH 0095 52632|"H < BT 5 T H 0.080 73375 EE1TE| 0076 48026
FEFH3TH 0.068 8,661.8|dtEAHET1 T H 0173 43121|S#BET2T B| 0064 54844
FEEE4TEH 0.049 8,224 5|4t KET2T B 0226 26018 BET3T B| 0046 6,6304
x /N BT 0.098 6,3265|dtHEARBT3 T B 1.355 251||&H¥AfBRT4 T BH| 0.055 68727
=x =5 BT 0.045 49778|dtHKET4 T B 0.121 66.1([7& 5 | 5.135 129.5
R BT 0.105 6,600.0||4t = AREBTS T B 0.086 58.1(F 5 ¥ 2.769 73.3
% BT 1 T H 0.050 5,380.0(% A R 3.489 4.0||= 5 ¥ 4.025 348
# BT 2 T H 0.116 56638l 8 1 T B 0.079 7,1266|F = ¥ 5514 50.1
¥ HE 3T B 0.061 7,0000|%= k% 8 2 T H 0.056 6,035.7||%& x| 4525 21.7
% BT 4 T H 0.064 46.9(12€ X ¥ 3 T H 0.057 6,175.4|4t B[ 5905 13.4
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